
 

If 𝒙 ∈ (𝟎,
𝝅

𝟐
) then: 

(∫ (𝟏 − 𝒕
𝟏

𝐬𝐢𝐧𝟐 𝒙)
𝟏

𝟎

𝒅𝒕) (∫ (𝟏 − 𝒕
𝟏

𝐜𝐨𝐬𝟐 𝒙)
𝟏

𝟎

𝒅𝒕) ≤ ∫ (𝟏 − 𝒕)
𝟏

𝟎

𝒅𝒕 

Proposed by Daniel Sitaru – Romania  

Solution by Samir HajAli-Damascus-Syria 

First, let’s consider a function 𝒇 defined on (𝟎,
𝝅

𝟐
) 

𝒇: 𝒙 → 𝒇(𝒙) =
𝟏

𝟏 + 𝐜𝐨𝐬𝟐 𝒙
⋅

𝟏

𝟏 + 𝐬𝐢𝐧𝟐 𝒙
 

𝒇′(𝒙) =
+𝟐 𝐜𝐨𝐬 𝒙 𝐬𝐢𝐧 𝒙

(𝟏 + 𝐜𝐨𝐬𝟐 𝒙)𝟐
⋅

𝟏

𝟏 + 𝐬𝐢𝐧𝟐 𝒙
+

−𝟐 𝐬𝐢𝐧 𝒙 ⋅ 𝐜𝐨𝐬 𝒙

(𝟏 + 𝐬𝐢𝐧𝟐 𝒙)𝟐
⋅

𝟏

𝟏 + 𝐜𝐨𝐬𝟐 𝒙
 

=
𝐬𝐢𝐧 𝟐𝒙

(𝟏 + 𝐜𝐨𝐬𝟐 𝒙)(𝟏 + 𝐬𝐢𝐧𝟐 𝒙)
(

𝟏

𝟏 + 𝐜𝐨𝐬𝟐 𝒙
−

𝟏

𝟏 + 𝐬𝐢𝐧𝟐 𝒙
) 

=
𝐬𝐢𝐧 𝟐𝒙

(𝟏 + 𝐜𝐨𝐬𝟐 𝒙)(𝟏 + 𝐬𝐢𝐧𝟐 𝒙)
(

𝐬𝐢𝐧𝟐 𝒙 − 𝐜𝐨𝐬𝟐 𝒙

(𝟏 + 𝐜𝐨𝐬𝟐 𝒙)(𝟏 + 𝐬𝐢𝐧𝟐 𝒙)
) 

Now: 

𝒇′(𝒙) = 𝟎 ⇒ 𝐜𝐨𝐬𝟐 𝒙 − 𝐬𝐢𝐧𝟐 𝒙 = 𝟎 

⇒ 𝐜𝐨𝐬(𝟐𝒙) = 𝟎 ⇒ 𝟐𝒙 =
𝝅

𝟐
+ 𝝅𝒌, 𝒌 ∈ ℤ ⇒ 𝒙 =

𝝅

𝟒
+

𝝅𝒌

𝟐
 

For 𝒌 = 𝟎 ⇒ 𝒙 =
𝝅

𝟒
⇒ 𝒇 (

𝝅

𝟒
) =

𝟏

𝟏+
𝟏

𝟐

⋅
𝟏

𝟏+
𝟏

𝟐

=
𝟒

𝟓
 

𝒙 𝟎                        
𝝅

𝟒
                                 

𝝅

𝟐
 

𝒇′(𝒙) − − − − 𝟎 + + + + + + 

𝒇(𝒙) 𝟏

𝟐
                         

𝟒

𝟗
                                 

𝟏

𝟐
 

 

⇒ For 𝒙 ∈ (𝟎,
𝝅

𝟐
) , 𝒇(𝒙) <

𝟏

𝟐
 

(∫ (𝟏 − 𝒕
𝟏

𝐬𝐢𝐧𝟐 𝒙)
𝟏

𝟎

𝒅𝒕) (∫ (𝟏 − 𝒕
𝟏

𝐜𝐨𝐬𝟐 𝒙)
𝟏

𝟎

𝒅𝒕) ≤ ∫ (𝟏 − 𝒕)
𝟏

𝟎

𝒅𝒕 



 

(𝟏 −
𝒕

𝟏

𝐬𝐢𝐧𝟐 𝒙
+𝟏

𝒕
𝐬𝐢𝐧𝟐 𝒙

+ 𝟏
|

𝟎

𝟏

) (𝟏 −
𝒕

𝟏

𝐜𝐨𝐬𝟐 𝒙
+𝟏

𝟏
𝐜𝐨𝐬𝟐 𝒙

+ 𝟏
|

𝟎

𝟏

) ≤ 𝟏 −
𝒕𝟐

𝟐
|

𝟎

𝟏

 

⇔ (𝟏 −
𝟏

𝟏
𝐬𝐢𝐧𝟐 𝒙

+ 𝟏
) (𝟏 −

𝟏

𝟏
𝐜𝐨𝐬𝟐 𝒙

+ 𝟏
) ≤ 𝟏 −

𝟏

𝟐
 

⇔ (𝟏 −
𝐬𝐢𝐧𝟐 𝒙

𝟏 + 𝐬𝐢𝐧𝟐 𝒙
) (𝟏 −

𝐜𝐨𝐬𝟐 𝒙

𝟏 + 𝐜𝐨𝐬𝟐 𝒙
) ≤

𝟏

𝟐
⇔ (

𝟏

𝟏 + 𝐬𝐢𝐧𝟐 𝒙
) (

𝟏

𝟏 + 𝐜𝐨𝐬𝟐 𝒙
) ≤

𝟏

𝟐
 

⇔ 𝒇(𝒙) ≤
𝟏

𝟐
⇔ 𝒙 ∈ (𝟎,

𝝅

𝟐
) 


